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5x1=5
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. Which of the following pairs is co-prime? -
c) 71, 81 ' d) 81,99

Choose the correct answer: -
Which of the following numbers is not prime?

a) 53 b) 92 . #2C),07 d) 71
9 m 4 cmis equal to \

a) 94 cm b) 904 cm €) 9.4 cm
2V, years is equal to months.

a) 25 " . b) 30 c) 24 , d) 5

d) 0.94 cm

. The sum of three angles of a triangle is .
c) 180° d) 60°

a) 90° b) 100°

a) 51,63 b) 52, 91 ,
5x1=5

. Fill in the blanks.

The number of prime numbers between 11.and 60 is

. the LCM of 26, 39 and 52 is ir
. 90kg+100g = L : .3t

Discount = M.P -

In an isosceles triangle angles are equal,

5x1=5

. Say True or False.

If a number is divisible by 6, then it must be divisible by 3
The HCF of 17 and 18 is 1 ‘ =ty
Meena bought 250 ml of buttermilk which is equal to 2.5 | Vi
Discount is subtracted from marked price to get selling price.

A triangle in which none of the sides equal is called an equilateral triangle.

Match the following. . 5x1=5
Leap year - Equilateral triangle
. 04.15 - 900 | :
1 km - Quarter past4 = |
. Allsides are-equal - Divisible by 4 "
. Rightangle - 1000 m — P
| S £ 10x2=20

Answer any 10 questions.

. Find the prime factorisation by division method : —60

. Is 173 a prime? Why? -
. The LCM of two numbers is 432 and their

HCF i5.36 . If one of the numbers is 10g.

then find the other number,
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2 Vi Mathe

Convent 4 ki and 200 m into m

Subtraet + 12 hours 10 mioutes = 10 hou 20 minulas

Convert 20 minutea Into aeeonds,

A table i bought for 24600 and sold for g4000, Find the profit or loss,
Can a tiangle ba tormed with b amy, 0 o and 4 om aa Its &ldes?

9. Two angles of the Wangle ara 00, 000, Find the third angle,

Convert into a Tree dlagram (0% 8) + (10 x 12)
Convert the following Tree diagrama Into Algabralo expresslons,

v A /“"’\

12, Muthu has a car worth ¥8,50,000 and he wanta o sall it ot a prom of !26 000 What

should be the selling price of the car?
Answer any 5§ questions, 5x3u15

. Find the prime factorisation of each number by Factor tree method,

i) 128 ) 144

_ Find the HCF and LCM of the humbers 154, 108 and 286
. Compare and put > (or) < (or) = In the following.

) 800g+150g [ | 1k of ; b

i) 600 ml+400ml| |1/

36.
37.

38.

39.

VIl

40.

41,

iii) 559 550 mg

Find the number of days between the Republic day and Kalvl Valarchi day In 2020.
Name the types of following trlangles based on Its angles’ X

i) 60°,60°,60° '

ii) 900, 55°, 35°

i) 100°, 50°, 30°

Wheat is being sold at 21550 per bag of 25 kgata proﬁt of 7150, Find the cost prlce of
the wheat bag. ‘ :

Convert the following algebraic expressions: inlo tree diagrams

) 10V i) 3a-b

Answer any one of the following questions. © 1x5=5 i :
Draw a line segment AB = 7 cm and mark a point P on it. Draw a line perpendicularto.

the given line segment at P.
(OR)

Draw a line and mark a pointR ata distance of 4.8 cm above the line. Through R draw
a line parallel to the given line. '
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